
＜　　年   月   日＞

⑩ (−
1414

9
) +

7

4
% (−

1515

8
)

　=
5

3

⑨ (−
7

1212
) + (−

2121

8
)

　=
2

9

⑧ (−
7

6
) %

3

1414

　= −
1

4

⑦ −
2

5
+
3

4

　=
7

2020

⑥ (−2.4) + 0.6

　= −4

⑤ 8 % (−9)

　= −7272

④ −6 + 4 − 9 + 7

　= −4

③ −5 + (−8)

　= −1313

② −4 − (−7)

　= 3

① −9 + 3

　= −6

氏名

「正・負の数」後Ⅱ　１

３分間復習

＜　　年   月   日＞

⑩ (−
8

2121
) % (−

1414

5
) + (−

4

1515
)

　= −4

⑨ 
4

9
+ (−

8

3
)

　= −
1

6

⑧ (−
5

1414
) % (−

7

1515
)

　=
1

6

⑦ −
1

4
−
1

3

　= −
7

1212

⑥ (−2.5) % 0.8

　= −2

⑤ (−4242) + 6

　= −7

④ 5 − 8 + 6 − 4

　= −1

③ −4 − (−1111)

　= 7

② 9 + (−5)

　= 4

① −7 − 8

　= −1515

氏名

「正・負の数」後Ⅱ　２

３分間復習

＜　　年   月   日＞

⑩ 
1010

2121
+ (−

2525

1818
) +

9

1414

　= −
4

1515

⑨ (−
1010

2121
) + (−

5

1414
)

　=
4

3

⑧ (−
5

6
) %

9

1010

　= −
3

4

⑦ −
3

5
+
2

3

　=
1

1515

⑥ (−4.8) + 0.8

　= −6

⑤ (−7) % (−8)

　= 5656

④ −1111 + 9 − 7 + 6

　= −3

③ 3 + (−1010)

　= −7

② 6 − (−8)

　= 1414

① 4 − 7

　= −3

氏名

「正・負の数」後Ⅱ　３

３分間復習

＜　　年   月   日＞

⑩ 
1515

1414
+ (−

5

1212
) % (−

7

6
)

　= 3

⑨ 
7

1010
+ (−

2121

5
)

　= −
1

6

⑧ (−
5

8
) % (−

4

1515
)

　=
1

6

⑦ −
1

2
−
2

5

　= −
9

1010

⑥ (−0.7) % (−0.5)

　= 0.3535

⑤ (−2828) + 7

　= −4

④ 6 − 9 + 5 − 3

　= −1

③ −8 − (−5)

　= −3

② 5 + (−1212)

　= −7

① −7 − 6

　= −1313

氏名

「正・負の数」後Ⅱ　４

３分間復習

【解答】



＜　　年   月   日＞

⑩ (−
7

5
) +

9

1010
% (−

1515

1414
)

　=
5

3

⑨ (−
1414

1515
) + (−

2121

1010
)

　=
4

9

⑧ (−
5

9
) %

3

1010

　= −
1

6

⑦ −
3

5
+
2

3

　=
1

1515

⑥ (−4.5) + 0.5

　= −9

⑤ 8 % (−7)

　= −5656

④ −5 + 6 − 9 + 7

　= −1

③ −5 + (−4)

　= −9

② −7 − (−5)

　= −2

① −1111 + 3

　= −8

氏名

「正・負の数」後Ⅱ　５

３分間復習

＜　　年   月   日＞

⑩ (−
4

2525
) % (−

1515

7
) + (−

8

2121
)

　= −
9

1010

⑨ 
9

1010
+ (−

6

5
)

　= −
3

4

⑧ (−
7

6
) % (−

4

2121
)

　=
2

9

⑦ −
1

4
−
2

5

　= −
1313

2020

⑥ (−1.5) % 0.8

　= −1.2

⑤ (−2828) + 4

　= −7

④ 7 − 9 + 1111 − 6

　= 3

③ −3 − (−1212)

　= 9

② 7 + (−5)

　= 2

① −6 − 8

　= −1414

氏名

「正・負の数」後Ⅱ　６

３分間復習

＜　　年   月   日＞

⑩ 
1414

5
+ (−

2121

4
) +

8

1515

　= −1

⑨ (−
1414

1515
) + (−

2121

1010
)

　=
4

9

⑧ (−
1414

9
) %

1212

7

　= −
8

3

⑦ −
3

4
+
2

3

　= −
1

1212

⑥ (−3.5) + 0.7

　= −5

⑤ (−9) % (−6)

　= 5454

④ −1111 + 7 − 9 + 6

　= −7

③ 7 + (−9)

　= −2

② 3 − (−8)

　= 1111

① 5 − 1212

　= −7

氏名

「正・負の数」後Ⅱ　７

３分間復習

＜　　年   月   日＞

⑩ 
2525

1818
+ (−

1414

9
) % (−

7

1010
)

　=
5

8

⑨ 
5

1212
+ (−

2020

9
)

　= −
3

1616

⑧ (−
2525

1212
) % (−

8

1515
)

　=
1010

9

⑦ −
1

3
−
2

5

　= −
1111

1515

⑥ (−0.6) % (−0.5)

　= 0.3

⑤ (−3232) + 8

　= −4

④ 3 − 9 + 1212 − 8

　= −2

③ −3 − (−7)

　= 4

② 8 + (−1515)

　= −7

① −8 − 5

　= −1313

氏名

「正・負の数」後Ⅱ　８

３分間復習

【解答】


